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2M: BREAD
Ha: 2EHELO0IR

& Z2eHE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Z M= Al Dt 15,444,217 12,062,074 3,382,143
= 125,217
Xl 1,222,833
< 176,935
= 13,919,232
=E2HEH0IE 9,433,517 7,813,585 1,619,932
T 2elHE 841,200 1,340,200 A 499,000
ZTHEANE 2F 806,200 506,200 300,000
201 Let24d] 42,400 42,400 0
01 At 22l 8,400 8,400 0
oz2g+g 8,400
— BRI BAT +Y
70,000& = 102 = 122/ 8,400
02 =224l 34,000 34,000 0
OAEZHI S X 34,000
—2E0SHEEHMAPIS) sX22
34,000, 000& 34,000
202 044l 10,800 10,800 0
01 = LH o4 1l 10,800 10,800 0
OzH&EYE =& 225,000& * 48 « 123 10,800
203 ¥R =&l 3,000 3,000 0
03 AIEZ=XH 2 =AH| 3,000 3,000 0
OZAHE ALY =&l 200,000& =« 153 3,000
207 O] 750,000 450,000 300,000
01 289 750,000 450,000 300,000
OsdiUEXNYGHHUH TE 22HE(EEXA)
HaE 89 500,000,000& 500,000
O=XXNEE #*= ¢ WA 250,000, 000& 250,000
HEH 2 24 35,000 34,000 1,000
307 21201 A 25,000 24,000 1,000
06 23 25,000 24,000 1,000
O=z=gx&EAN 2 25,000,000 25,000
401 AIEHI L 20 10,000 10,000 0
01 A& Bl 10,000 10,000 0
O=EZ= NdNZ HEXY AZ 2 FHH|
10,000, 000& 10,000
2102 65,038 64,152 886
SABVE FHl 65,038 64,152 886
101 124l 13,018 12,132 886
04 JI12ZtHZ22 a2+ 13,018 12,132 886
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=2gZus &l 13,018
—Jl=s 51,7603 * 18 = 200 10,352
—S=522f2=Y 51,760 ~ 1€ » 28¢ 1,450
—4HEE= 11,801,280& * 0.103 1,216
201 Let24dH] 2,020 2,020 0
01 At 22/l 2,020 2,020 0
o2d+¢ 420
~SQIYNERVE AT 42
70,000& = 3H « 23| 420
ogxtz 1,600
—S8HZ D234 ZJde Xt
400,000& * 2& = 23| 1,600
401 AIEHI L 20 48,000 48,000 0
01 A& bl 48,000 48,000 0
O+ XNEANAU £X 40,000
—XEAANN nH(ad)
7,500,000 = 404 A 30,000
— XNEAAU =el 1,000,000& * 50 2 5,000
— XNEAACH Ol M 5,000,000 * 1JH 4 5,000
OZnE=a X E X 80,000& * 1009 & 8,000
405 RHoHE S HI 2,000 2,000 0
01 AL ESFH S 2,000 2,000 0
O8d=9 HMHEH P2 400,000& = 54 2,000
MNAEEZ S E 7,930,825 5,993,553 1,937,272
HEZAAHEEZ i L &2 H 3,158,460 2,055,760 1,102,700
401 AIEHI L 2 CHYI 3,158,460 2,055,760 1,102,700
01 A& HI 3,150,000 2,050,000 1,100,000
OHIETANHEEZZ (A2-625) N4 = AH(L=280m
, 169 THE A 59) 600,000,000& 600,000
OANEmel 2(22-405) S 204 (L=260m)
500,000,000& 500,000
OLEOtIE F(A3-175) T2 & (L=120m,
HE219) 500,000, 000& 500,000
OOCtLUZOIE~A Y ZH 2 (A2-208) T2 IHE (L
=120m) 300,000, 000& 300,000
OXE=85X WEZE TLHMA(SLEU2AM 6
AL E) 850,000, 000& 850,000
ORLUBSSH-2Z205 M (F3-55) T2 M (
L=40m) 200,000, 000& 200,000
OBAA~AR0ITIE (A2-168) 2 & (L=110m
) 200,000, 000& 200,000
03 Al2 S THHI 8,460 5,760 2,700
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OFEZAAE 2L
2,350,000,000& *0.36% 8,460
SANEAHEEZ HE & &2 1,906,840 2,146,084 A 239,244
401 Al HI K 201 1,906,840 2,146,084 A 239,244
01 A& tI 1,900,000 2,140,000 A 240,000
OdXN=z=Es8WH(42-375) 2 & (L=120m)
200,000, 000& 200,000
OSEZ=SSU-HEFRA (L2455 )2 A (
L=80m) 200,000,000 200,000
OYXHr2ots~He(£2-315) = 2 I & (L=150m
) 200,000,000 200,000
OSOIOtI E~Y XS (£2-545 )= 2 M & (L=91m)
150,000, 000& 150,000
OXNE~EE (43-85)% 2 MH4& (L=400m)
500,000,000 500,000
O =T~ e2H(£2-375)E 2 M & (L=70m)
350,000,000 350,000
OZBE2~ML W32t (L2-508 ) =2 A (L=25
Om) 300,000,000 300,000
03 Al 2 0HHI 6,840 6,084 756
OEXNZANAHEEZZ 1,900,000,000& =* 0.36% 6,840
g E2d & =2 H 1,405,760 20,216 1,385,544
401 A& HIZ 201 Y] 1,405,760 20,216 1,385,544
01 A& HI 1,400,000 20,000 1,380,000
OUEx=Ss WA (23-65) T2 A (L=148m)
200,000, 000& 200,000
Odolel~ME (L2-28) T2 & (L=665m, 161
HAE242 109) 1,200,000, 000& 1,200,000
03 AlE S THHI 5,760 216 5,544
OUE SAAECZ2H4
1,600,000,000& * 0.36% 5,760
HE 2004 & =LY 754,725 563,528 191,197
401 A& HIZ 201 I 754,725 563,528 191,197
01 A& tI 750,000 560,000 190,000
OGMZANAHEEZ2(E3-15) == & (L=380m,
1649 THAE29) 750,000,000 750,000
03 Al 2 THHI 4,725 3,528 1,197
OIUZAAEZZ2(E3-18)2M4E
750,000,000& * 0.63% 4,725
EHEANAHEEZ HE @ SZH 372,664 302,160 70,504
401 AIEHI L 201 372,664 302,160 70,504
01 A& Hl 370,000 300,000 70,000
OSATANAHEEZ2 A2~225 IHA (L=140m)
200,000,000 200,000
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OTd&U E(L2-218) T2 IHE (L=135m)
170,000, 000& 170,000
03 Al 2 THHI 2,664 2,160 504
OZEZANAHEEZZ 370,000,000& * 0.72% 2,664
EIRZANAHAEEZ HE L X FH 332,376 754,725 AN 422,349
401 Al HIZ 201 8] 332,376 754,725 N 422,349
01 A& HI 330,000 750,000 A 420,000
ERUMNRLA~BSN2H(A1-168) T2HA (L
=330m) 330,000, 000& 330,000
03 A& =2 THHI 2,376 4,725 A2,349
SRS AAHEE 330,000,000& * 0.72% 2,376
AJEXI Ol 28 ZHI 596,454 415,680 180,774
E& % 0l2 FHul 12,800 12,800 0
202 (44l 10,800 10,800 0
01 SLHOIYI 10,800 10,800 0
OAIJFX ZHIAMY =&
225,000& = 4% = 12& 10,800
203 YR =2t 2,000 2,000 0
03 A FAH S Z= XY 2,000 2,000 0
OAIJFX ZHIMY =& 200,000& = 103l 2,000
TAHEEZ RRNE> 583,654 402,880 180,774
401 AIEHI L 201 583,654 402,880 180,774
01 A& Hl 580,000 400,000 180,000
OZANAHEEZ EXNEL & X2l 300,000
—ZJI01E8Y ¥ OI=2EX 24
200,000, 000& 200,000
— Al &4 100,000, 000& 100,000
OAJIX ESFHI(#YE, EX, &, 23)
200,000, 000& 200,000
OZAAHBEZ MFAY AAIEAHH
80,000,000& 80,000
03 Al 20 HI 3,654 2,880 774
OZANNHEEZ EXNEL & S22
580,000,000& * 0.63% 3,654
AHIIBEAIE & F ,419,900 1,104,900 315,000
< 36,000
[ia ,383,900
AAIBHAIE K& ,419,900 1,104,900 315,000
< 36,000
[ia 1,383,900
JIE KX K& 459,900 166,900 293,000
201 L2l 16,700 16,700 0
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I MAI|BIAIE &=
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 9,500 9,500 0
Ogbt4=24| 9,500
—SY SAINYESI EEZS HE(SHY)
500,000 = 8JH 4,000
— MCEX 1,000 = 2,0000H 2,000
— sS40 50,000& = 103 500
— T AILHE ELHI HE
5,000 * 6008 3,000
02 2324 7,200 7,200 0
O22322 % HA 7,200
— g = CCTV dIIe2
10,000€ * 60 & = 12&€ 7,200
202 044l 16,200 16,200 0
01 2L I 16,200 16,200 0
OJIEgKRX g4 225,000& * 6Y * 12& 16,200
203 Q2 =AY 14,000 14,000 0
03 AIEH =X H 2 F X Y| 14,000 14,000 0
OJIEgRX gd2F&X 250,000 * 243| 6,000
OXEHEHM &4d3 =& 250,000 = 323 8,000
307 21240 120,000 0 120,000
02 QIZIA AAIE E X 120,000 0 120,000
OMHEX E2HA 28 X 120,000,000 120,000
402 SI2F X0l ™ 293,000 120,000 173,000
01 It EAIS EXR (M) 293,000 120,000 173,000
OUgH=SLXHeANE 2IX&
10,000,000& = 12€ 120,000
o=2gX =HXNSE 173,000,000 173,000
LMSHAIIBIAIE &= 840,000 938,000 A 98,000
401 Al HI L 204 HI 840,000 938,000 A 98,000
01 Al&H| 840,000 938,000 A 98,000
OAA T (LA S22 CHX] JHE 2 &) D) Bt
AlE X & 100,000, 000& 100,000
OAA T (LBHALEH S 2T g 28) S
2| AFE 40,000,000 40,000
OUESLErMACER] =8 QIR AALS
700,000,000& 700,000
AR JHEZIMAAE 120,000 0 120,000
= 36,000
= 84,000
401 Al HI L £ 0HHI 120,000 0 120,000
= 36,000
= 84,000
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01 A& HI 120,000 0 120,000
O%el =2gHX EEFHI 120,000
= 36,000
[ia 84,000
ANSFH - st 2,427,093 1,018,588 1,408,505
= 5,000
Xl 1,000,000
< 45,000
[ia 1,377,093
s2J19 A& 413,600 488,600 AT75,000
< 30,000
s 383,600
SN0 SN 63,000 68,000 A5,000
307 glz2+0l & 63,000 68,000 25,000
02 It M AMHEE 18,000 18,000 0
OXAXIATHA EEXE A
1,000,000 = 154 15,000
O&Al2 &It A Xtz A& 3,000,000 3,000
04 DIZHHALALSE E X 45,000 50,000 A5,000
OSAJNY22X 808 M=EU3
45,000,000& = 13l 45,000
LS AF0E QHEX S NI MY 225,000 275,000 250,000
< 30,000
[ia 195,000
301 et Az 165,000 215,000 A 50,000
MIIEBE43 165,000 215,000 250,000
OZ2z2i g3 s NE
1,000,000& = 150AICH 150,000
O22X XIS X 300,000& * 50AHICH 15,000
307 glz2tol & 60,000 60,000 0
< 30,000
[ia 30,000
02 It M AHEE 60,000 60,000 0
OFZINYS A8 AAEXZ N
500,000& = 20H » 63 60,000
< 30,000
e 30,000
SEREXN YL XA 25,600 45,600 20,000
308 A EHHSOIA 25,600 45,600 220,000
07 IXNHMARE = 25,600 45,600 A20,000
OSEEX MHYHl UE F3+=2+2(4,266,700,
000& +0.6%) 25,600,000 25,600
NLEREE 223X 100,000 100,000 0
402 RI2HXt20l 100,000 100,000 0
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01 2IZEH 2 A B (KR ) 100,000 100,000 0
OXNEENER B3 XA 100,000, 000& 100,000
HEANE SFMEAY 757,110 70,890 686,220
< 10,000
[ia 747,110
SUSAIE AIEZEHl 22 64,890 49,690 15,200
201 LBt 9,890 9,690 200
01 At 22l 8,760 8,560 200
Oget=&H| 8,760
~HENT (ML) MIIQHEY HHsaR
120,000& = 4044 = 123 5,760
—EXAE LgordEA  1,500,000& * 13 1,500
—HEANF (ML) Y HFXT Ha
00,000& = 501 = 13l 1,500
02 =224l 1,130 1,130 0
O322= & HA 1,130
— gAY a2l A2 nSH
50,000& = 13l 50
—E8AE CCTV &EJIR23
30,000 30 A =12JH & 1,080
401 AIEHI L 201 55,000 40,000 15,000
01 A& HI 55,000 40,000 15,000
ONSAE MERXNES
8,000,000& = 500 AlZ& 40,000
OZ LA E &-HE CCTV & X 15,000, 000& 15,000
HENT BH3H(KA) 1,200 1,200 0
301 g4 = 1,200 1,200 0
09 SAAHIEA S 1,200 1,200 0
OXSAE Ast AL 24
30,0003 = 40¥ = 12 1,200
HESANE 230/HE 12,000 20,000 A8,000
201 Let24dy| 12,000 20,000 A8,000
03 &AL Z I 12,000 20,000 A8,000
OdSAIE &X 80tE  6,000,000& * 270 £ 12,000
UXTEA ME O|F AL 645,680 0 645,680
401 Al HI R 201 I 645,680 0 645,680
01 A& HI 631,920 0 631,920
OEXNIEL EA A=Y 600,000,000& 600,000
OgXIEa AL A=LH S99
31,920,000& 31,920
02 2eltl 9,960 0 9,960
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o
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01 AP 2t 2] H| 5,000 5,000 0]
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—EBZHE L ARES F¢ 5,000,000 5,000
Xl 2,500
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= 1,750
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